(3) SAT-3

S araar aien
 SCHOLASTIC APTITUDE TEST
39 AFT-TF § Tl 100 WIA & | WA WIT TH 34 B T
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

LA R o W R (o e ) | S w e e
T 7w R wa € ? '

1 1 |
@) cﬁ“ (B,-E (C) %
1 ' 1
D) F (E) E
(1) e D (2) DIE
(3) A BTIC (4) AdD,

Consider the following five graphs ( note the axes carcfully ). Which of the
following represents motion at constant speed ?

T 1 :
® 2
: T :
® 3 B & © 3
Time —» - Time —» _ Time ->
! £
(D) 2 E) <
g g
Time —» Time —»
(1) Donly (2) Dand E
(3) A, BandC (4) Aand D.
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SAT-3 ' (4)

2.

mWTHﬁ@aﬁﬁsoummmaﬁwrhﬁ 100 ms~ ! & &fcr 3w @
Sigh o ¥ 1 g 5 0 e 1 0w A 2

(1) 100 ms™! (2) 500 ms™~

(3 05ms! ' @) I

A bullet of mass 50 gm is horizontally fired with a velocity 100 ms~ ! from a gun |
of mass 10 kg. What will be the recoil velocity of the gun ?

(1) 100 ms™! (2) 500 ms”!

(3) 05ms! (4)  Zero.

T e FI R TRRETE 3T 9 SwEiet S F R Hew ST @ T 100 HieX &l
sffueran HOR W aged € mﬁ'iﬂﬁaﬂmﬁmawaﬁw'ﬂﬁmm%aﬁ
37 13 g W SfeRad HaT$ g

(1) 707 HRX (2) 1414 TR -

(3) 200 HeX (4) 400 HiX |

A ball is shot vertically upward with a given initial veloc1ty It reaches a
maximum height of 100 m. If on a second shot, the initial velocity is doubled
then the ball will reach a maximum height of

(1) 707 m 2) 1414m’

“(3) 200m (4) 400 m.
aﬁgﬁmWMﬁamﬁw Rﬁmﬁmﬁmﬁ%?ﬁgﬁwwg/a
A €

1) R*/M @ M/R?

3) M/R (4 R/M.

Let M denotes the mass of earth and let R denotes its radius. The ratio g/ G at
earth's surface is '

(1 R*/M 2 M/R?

(3) M/R (4) R/ M.

T &S W9H &

(1) ¥ @ Gwve-!

@) H= 4) HReL

The unit ‘hettz’ is same as |

(1) second (2) second ™ !
1

(3)  ‘metre (4) metre
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6. fodt wafy i @ amaft 10 kHz UF TR 3 mm ¥ | 3tﬁaﬂaﬁﬁa3ﬁmm
T o 2 |
(1) 019FUE (2 19%v8
(3) 10 WU , (4) 001 ¥FTS |
A sound wave has a frequency of 10 kHz and wavelength 3 mm. How much txme
will it take to travel 3 metre ? '
(1) 01 sec B (2) 1 sec
(3) 10 sec (4) 001 sec.
7. el STt dor g1 ST SRR T SR R % SR & 9 3, @ R
s #irh .
(1) FX _ 2) FINCcFIH
(3) CW (@) CcHR I FH A |
The size of image formed by a concave mirror is same as the size of 6bject. The
position of the object will be
(1) atF . (2)  between Fand C
3 atC ' (4) between C and infinity.
8. UH 301 o1 W Bihd U 30 9 ¥ | AR O fow 3w 15%@%@??1%
o FRT 30 S €
(1) 666 ' 2 05
3) 1 \ (4) 2.

A convex lens has focal length 30 cm. If an object is placed at a distance of
’ >

15 cm from it then the magnification produced by the lens is

(1) 666 ' @ 05
N | ' 4 2.
9. U IIeih AR H forggd WA K ¥ 1 A S o Ud S e Sawet i |
T I S O 7! 7§ Sfereehen gt
(1) K 2) 2K
3) K/2 4 K/4

The electrical resistivity of a coniducting wire is K. If its length and area of cross-
se€ction are doubled then the new resistivity of the wire will be

K 2 2K
(3) K/2 4 K/4.
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11.

12.

ﬁt}nﬁqﬁqﬂﬁAaB%WQﬁw&rﬁaw% ?

1n . 29
sl i Lol 22 1 .
' 12 29 |
(1) 100 | @ 40
@ Lo - w o

What is the equivalent resistance of the given circuit between points A and B ?

lsz. 2.9.
A 1“ 3 2“ B
(1) 10 @ 40
(3) %‘Q (4) -1-6-7-9

100%%43@%63’%9%&??!@%%|s‘ao§|‘r‘r'kahaﬁﬂﬁsoﬁ?
aamaﬁéﬁ%rqm’rmwww%?

(1) 360 ®o (2) 90 Bo

@ 120 %o 4) 400 Fo,

4 bulbs rated 100 W each, operate for 6 hours per day. What is the cost of the

energy consumed in 30 days at the rate of Rs. 5/kWh ?

(1) Rs. 360 2) Rs. 90

(3) Rs. 120 (4)  Rs. 400.

@Hﬁﬁmﬁfﬂqaamw%ﬁs’riﬁ% l%ﬁaﬁAaBmet@?aﬁ

¥ w Y
A

B

v

(1) gt fomifya =& it
(2) %o T & gs faeifua gt

(@) I gz wae e o fawifta g
@) S gl foofa fem 7 feifr i
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An electric current is passed through a straight wire. Magnetic compasses are

placed at the points A and B. True statement is
A
Be

>
>

(1)  their needles will not deflect
(2) only one of the needles will deflect
(3) both the needles will deflect in the same direction

(4) the needles will deflect in the opposite direction.

s A e R e R S R % v @ e & s R g
et forg x @ w79 bt o7 farg v b el & 2

= *Y - Y
(M I
- X E X :

*a /Y o
@ a9y & . 4 =g l
X X

Which diagram below illustrates the path of a light'ray as it travels from a given

point X in air to another given point Y in glass ?

. .
glass £ Y glass |/Y

(1) i @ -
X | X
glass 3% Y

glass

(3) air ()] air

X X
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' SAT-3 - (8)
14, eifefaa sfafear § Hol 1 g aRE ®
' HCI (aq) + H,0 - Cl” (aq) + H,0"
(1) HO" (@ HO0
3 C1° ' (4) HCL

Conjugaté base of HCI in the following reaction is
HCl(aq)+H,0 > Cl™ (aq) + H,0"

(1) H,O" @) - H,0
3 I @)  HCL
15, TEIRER 3% IR T T 67 3
(1) CasoO, (2 CaSO,.2H,0
(3) CaSO,.%H,0 (4 CaSO,.H,0.
The chemical formula of Plaster of Paris is
(1) €aso, - B (2)  CaSO,.2H,0
(3) CasO,.%sH,0 (4)  CaSO,.H,0.
16 3ifeiiEa sfufsrar & wdHier fhd wehR &1 IBRE ¢ 2
cHCl, + 0, —25M | scocy, + 2HCL
(1) TS ISRE . (2) ARG IoRS
(3) IF-3ORE . (4) o SOR® L
Which type of catalyst is ethahoi in the following reaction ?
~cHey, + 0, — 2™, acocy, + 2He
(1)  Positive catalyst - '(2) | Negativé catalyst
(3) Bio-catalyst 4) Autocatalyst.
17. aTeifefea § & 3ouig & | '
(1) i @ W
(3) wifea | ) et
Metalloid among the following is
(1) lithiﬁm (2)  sulphur
(3) sodium . 4) silicon.
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18.

19

20.

21.

(9) SAT-3

CH

ch'5 >C = CHy w7 [UPAC T &

(1) 1, 1-SEAMA-2-TIH (2) 2-Afer1-mde
@) 2, 2-sEife eiF (@) 2-ARme We-E |

CH :
3 = .
The IUPAC name of CH, >C =CH, js

(1) 1, 1-dimethyl-2-ethene  (2) 2-methyl-1-propene

(3) 2, 2-dimethyl ethene (4)  2-methyl prop-2-ene
e a7t o SFETAER SEUHA & WO ¥ I e €
(1)  3TREHA @ WE

(3) e . 4 AEeE-6, 6.

The polymer formed by condensation of adipic acid and hexamethylene diamine.is
(1) isoprene (2) rayon
(3)  terylene 4 nylon-6, 6.

Wwaﬁﬁmméﬁmaﬁmaﬂﬁaﬁﬁ%ﬁx% |

(1) v S (2) FEUEH
(3) it @ PR
The method for separé.tion of mixture of common salt and ammonium chloride is
(1) fractional distillation (2]  sublimation
(3) chromatography . (4) crystallization.
14gmN2mﬁaqaﬁaﬁﬁ@Tahﬁ
(1) 6022 x10% 2) 3011x10%
(3 151 x 1023 4) 6022 x10%2

Number of molecules present in 14 gm of N, molecule is

(1) 6022 x 102 @ 3011x10%

3) 151 x10% 4) 6022 x 10%?
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22. 2, 8,6 Frfatad ¥ | 6 o &1 EE B E 2

(1) T (2)  SHATEH
(3) IR (4) FERA |
Which of the following elements has an electronic configuration 2, 8, 6 ?
(1} Sulphur (2)  Oxygen
(3)  Phosphorus (4)  Chlorine. -
23.  IHifcifEd § § $H-T1 e GREa-eieT HaThdT HGRerd il € 2
(1) Na = (2) Mg
(3) Fe 4)  Zn.

Which of the following elements shows variable valency ?

7(1) Na (20 Mg

(3 Fe . 4 Zn.

24, UelfHtrEm HeE & 9T 8
(1) Al,(cCo,), (2) AL,CO,
(3) Al,HCO, @) Alcb o

Formula of aluminium carbonate is

1 R, {Ccoy, ), (2)  AL,CO,
(3) AIHCO, (4)  AICO

25. heH-112 F G ¢

61 QN (2) CF,Cl,

(3) CFCl, | (4)  CCI,F.

Formula of Freon-112 is
(1) C 2F2Cl % ‘ (2) CF 2012

@ CFCl, . (4)  CCL,F.
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26, A X TR F q stEar wk o i fok 3o et e T S §

27.

28.

29,

daX ¥
(1) WERES 2] &=
(3) THEA @ Tt

The element X reacting with chlorine forms a water soluble compound having

~ high melting point. Element X is

(1) magnesium (2) argon

§3) carbon 4) neon.

et & YRR foerd & BH-91 s arar e § 2

(1) T () T[T FH
@) @ e
Which tissue is found in fibrous covering of coconut ?
(1) Parenchyma (20 Collenchyma
(3) | Sél’erenchyma 4) Meristemaﬁc tissue.
et § e A @

(1) TR EE (@ TS

(3) T S @ fo=r |
Nucleus of the cell was discovered by

(1)  Robert Hooke @  Leeuwenhoek
(3) Robert Brown @  Virchow.

fret & @ - TR @A ¥ 2

(1) e (2 R

(3) TRFRA (4) TR |
Which of the following is a plant hormone ?

(1) Insulin (2)  Thyroxine

(3) Cytokinin (4) Oestrogen.
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30.

31.

32.

33.

oY # SURd Gow SRR & &R % uid sy Yast uky I9F &

(1) SeiwmEeT (2)  ©EHA

(3) Reiwmer (4) et

Plant group more sensitive to the levels of sulphur dioxide in air is
(1)  Thallophyta (2)  Lichen

(3)  Pteridophyta (4)  Gymnosperm.

SgaT, WIEER T HICEF Gyl % I &

(1) A, Akt (2) Wi, §H-2e

(3) WTEHY, WIgTH (4)  Ele, TR |
Examples of perennial, evergreen and woody plants are

(1)  Funaria, Marchantia (2)  Marsilea, Horse-tail
(3) Cycas, Pinus (4)  Ulothrix, Spirogyra.
SHITTRT T ThHIT T TGl &

(1) R (2 R

(3) @ (4)  Ties @ o

Turgidity of cell is maintained by

(1) Vacuole (2) Lysosome

(3) Plastid 4) Golgi body.

TeRTeT HeST & foly aevas e =6l §

(1) I TR (2) FARiTEe

(3) gl (4) T SRIHIES |
The substance not essential for photosynthesis is

(1) sunlight (2) chlorophyll

(3) nitrogen (4) carbon dioxide.
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35.

36.

37.

(13)
AT 3T Y Wl ..o, et & |
(1) TEERS 2 T=EE
(3) T (4)  NGTIEEE |
The nature of nerve impulse is
(1) chemical (2)  magnetic
(3) electrochemical (4)  electromagnetic.
ek 3TreT IeasTl STwqail T ST &
(1) Bl (2 gy
(3) IHAW @) TR
The example of uricotelic animals is
(1) fishes (2) reptiles
(3) amphibians (4) mammals

AUSH & AR THHHT 0T § F,) G T ST WeT S &

() 3:1 (2)

3 1:1 (4)

9:3:3:1

1:2:1,

SAT-3

According to Mendel in monohybrid cross the genotypic ratio of F, generation is

[ gl @)
@ 1:1 (4)
AT Scieh o1 ISR &

(1) Sured 2)
(3)  fqet st e (4)
Example of connective tissue is

(1) cartilage 2)
(3) skin of animals 4

NTSE(I)/18 - SAT-612-C

9:3:3:1

1:2:1.

whepTer aen

e SR |

skeletal muscles

nerve cells.
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38.

39.

40.

41.

378 37 oY TR T ISERT &
(1) TGS (2) HE
(3) AN (4) US|
The example of egg laying mammal is
(1) Bat (2)  Kangaroo
(3) Pigeon (4) Echidna
3Gk T ¥
(1) FW 2 TH
(3) 3mHiemuiEw (4)  diferar |
Non-communicable disease is
(1) Cancer (2) AIDS
(3) Amoebiasis (4) Jaundice.
fohg @ & 5] PR A § ?
(1) URIHT 2) werfeae
(3) UhfoHsT (4)  HerE |
Animals of which phylum are pseudocoelomate ?
(1)  Porifera (2) Platyhelminthes
(3)  Aschelminthes (4) Mollusca.
= 33*2J‘g_§=a+,/§b R, A Jarb W AT F1 G S o T b WOTT GEAL
g7
(1) 5 2 8
3) 2 4) 16.
35343 .
If = =a + V3 b, then the value of Ja+b where @ and b are rational
numbers is
(1) 5 2) 8
3 2 4 16.
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a2 kK O p % fHT YIHe AAI & folw @il 2x2+ px + 8 = 0T

43.

p(x%+ x )+ k = 0% gl TIH &R ?

(1) k=1, p=4 2 k=2, p=8

]

(3) k=4, p=8 4 k=2, p=4.

For which positive values of k and p, equations Dx? 4 px+8=0and

p(x2+ x )+ k = 0 have egual roots ?
1) k=1, p=4 (2) k=2, p=8
3) k=4, p=8 (4) k=2, p=4.

A o, pTT x2 - p(x+1)-k YT WIBR SR (a+ 1) (p+1)=6Ta
k T A &P

(1) 5 @ -1
@ -3 @4 -5.

If a, B are zeros of polynomial x2—p(x+1)—k suchthat (a+1) (B+1)=6,

then value of k is
1 S 2 -1
3 -3 (4) -5

618_5107}3@%35[ % BT
(1) S 2 8
@) 1 4 o
Which is unit digit of 68 — 510 ?

1 s 2 8

@ 1 4 o

NTSE(I)/18 - SAT-612-C [ P.T.O.



SAT-3 (16)

45, T i § QT L PRTAT QS = PSE | A% £ TQR = 40° & £ RPS = 20° & @1 x I
aH g

P

(1) 80° (20 25°
(3) " 15° 4)  35°
In the following figure QT L PR and QS = PS. If £ TQR = 40° and £ RPS = 20°

then value of x 1s

P
T
Q " S R
(1) 80° 2  25°
(3) 15° (4 35°
46. GHFR S71 20, 19%,18%, ..... T HH-G1 U8, UH FHUNHE 9§ &I 7
(1) 183 (2 158
(3) 284t 4) 27|
Which term of A.P. 20, 19%, 18-;— s 2Bt is first negative term ?
(1) 18th (2)  15th
(3) 28th (4)  27th.
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47.

48.

49,

(17) SAT-3

12 et S AR 3 Rt s Rt @ fogall @ W & Re % g
o 0 E | AR T s R R F TR R 16 m A, @ g B ) R
* U ¥ g e

(1) 24 HX @ 9HxR

@) ;2_ﬁa (4) 18 HRX |

The angles of elgvat{cn of the top of 2 12 m high tower from two points in

opposite directions with it are complementary. If distance of one point from its

base is 16 m, then distance of second point from tower's base is

(1) 24m @ 9m

3) 12m L@ 18
qﬁ;m=.‘£§éa¥nn=c‘?s*’lﬁ,‘ﬁ* (m2+n2)cbszB Wm
: cos B sin B

(1) . m? @ n

3) m?+n? | 4) 'm+rn.

_Cos A _cosA . g B
Ifm_cosB and n _sinB’then (m +n_)§os B is equal to

@ m2+n?
aft @ Ty Pl @) St 1 S 4 ¢ 9 A, A A 3 Loawedt 1 ST €
(1) " 2:3 . 2 :5:2_

(3) 81:16 (4)  16:81.

NTSE(I)/18 - SAT-612-C " [ P.T.O.



SAT-3 | (18)

50.

51.

If ratio of heights of two similar triangles is 4 : 9, then ratio between their areas
is

m 2:3 @ 3:2

@3 81:16 @ 16:81.

10 @t Bt & @ 7 %, & A 4B - AC - 12 om @, A e BC F
FEN 7

(1) 12 ¥ (2) 96 9dl
(3) 19-2 ¥t @) 72 9

In a circle of 10 cm radius, two chords AB = AC = 12 cm. then the length of the

chord BCis
(1) 12cm (2) 96 cm
(3) 192cm 4) 72cm.

10 AT TI89 GEell &1 A1 120 &, A 399 § WA 5 foawq Semnsit &1 /g F4
& 2

(1) 113 2) 115°

(3) 114 (4) 116

If mean of ten consecutive odd numbers is 120, then the mean of first five odd

numbers among them is
(1) 113 (2) 115

3) 114 4) 116.



(19) . SAT-3

52. ﬁ@h@%ﬁmwwmw&,mﬁwaﬁmcbaﬁwmﬁ%

e it 3 = i i e A g T
D C

A : B
_ 10 |t

1) 20 =t w @ 0 wR

@) 500 =t w @ 190 =l g |

Find the area of shaded region, where side of square ABCD is 10 cm andltwo

arcs drawn from two oppoéite vertices of the square.

D _ C

a 10 cm B
(1) . g—ggsq. unit (2) ﬂg-g-'s.q. unit
(3) -‘?%qu. unit @) -1-%9 sq. unit.

53. 14%%%&1%%%%%%%%%@@%%4@%
> ¥ E | vw rorw @ wer F AT 2
‘ 8
(1) ig?.;ﬁrS 2) -_?29—115@3
(3) 112 @2 4) %’lﬁﬁﬁz.
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SAT-3 (20)

Find the capacity of a glass which is in the shape of frustum of height 14 cm and

diameters of both circular ends are 4 cm and 2 cm.

308 3 298 3
(D 3 cm 2) <51 m
(3) 112 em? 4) 22‘-315-‘- cm?.

54. qﬁaﬁ%ﬁﬂP(%,i;),ﬁv—g’u's,S)WB(x,y)aﬁfqﬂﬁalﬁ%i‘@ABaﬁ
23 % S 3 s R B ) x oy H A AR
(1) x=4, y=7 2) x=5, y=9
3) x=7, y=9 4 x=7, y=8.

23 33

If a point P (?, ?), divides line AB joining two points A (3, 5) and B ( x, y)

internally in ratio of 2 : 3, then the values of x and y will be
(1) x=4, y=7 2 x=5 y=9
B x=7,y=9 4 x=7, y=8.

55. A UH T I T AgFeds wa fordr T &, ol 39 o9 o 53 WHER R & wiear
1 EM 2

(1) (2)

o NI

&
e

1

7

53
@) == (4)
If a leap year i elected r. lomly, then what is the probability of having

53 Mondays in this year ?

1 2
oz .
53 52
B === (4) 365"

366
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56. s el 7 ot aRfy, Suh =W ¥ 60 Wt arfeh @, @ I g wI ARRY I T
Gl

(1) 14mcm (2 28 T cm
(3) 35Smcm 4 42 1 cm.

If the length of circumference of a circle is 60 cm more than its diameter, then

length of its circumference is

(1) 14 n cm ()] 28 1 cm

(3) 35ncm (4) 42n¢m.
57. & T B ABC ® AD 9 BE s &t Wiftged ww g #1 g ¢ W wiofed

FA § | A ABDG FT &= 1 1 FA & A AFN DCEG F &R T 2
‘ A

(1) 2= JH | @ st a

G 4 = o @) 1

In given AABC, AD and BE are medians of triangle which intersect each other at

point G. If area of A BDG is 1 cmg, then what is the area of DCEG ?
A

1) 2cm? (2) 3cm?

3) 4cm? @ 1cm?

NTSE(])/ 18 - SAT-612-C [ P.T.O.
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58.

59.

60.

60° 30/ T FT e § I R @ 2

g 121

SV = @ 3"
121x€ : 121 ¢

@ g0 @ 530"

What is the radian value of angle 60° 30/ ?

n® 121 ¢
) = @ 3"
1217° 121 ¢
@) 180 @ 530"

T et & A=W H 25% H HH FA W ITH JOA SFEA [ WioRId w9 @
S 2

(1) 25% (2) 5625%

(3) 4375% 4  62:5%.

The diameter of a sphere is decreased by 25%. By what per cent does its curved

surface area decrease ?
(1) 25% (2) 56:25%
(3) 4375% 4)  62'5%.
(x—y)% + (y-2)° + (z-x)® FARE

1) (x-y)® (y=2)° (2-x)°

@ 3(x-y) (y-2) (z-x)

3) xX+yd+23 _ 3xyz |

4 x>+ y%+ 2% -2x%y-2y%z-2z%
Value of (x-y)% + (y—2)° + (z-x)%is
1) (x-y)® (y-2)° (z-x)°

(2 3(x-y) (y-2) (z2-x)

@ 3+ yP+ 2 ez

(4) 3+ y3 + 23— 2x2y - 2yzz- 2z%x.
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61. We-I aﬁ@-nﬁgﬁ%ﬁaﬂﬁgﬂﬁﬁmwﬁﬁq:

Teft-1 -
(31) TR RS & AgayH (i 207, 1789
(%) Sreer 1w g (i) 4 3T, 1789

(@) wE o e e 1 S e (i) 14 TS, 1789

(3) ™9 HE = IOy (iv) 5¥s, 1789
FT :
<8 | H 9
1) i ii i iv
(2) iv 17 SR i
3) iv i i i
(4) i iv i i

Match List-I with List-I correctly and choose the correct code from the

following :

ListI ListO
(A)  Meeting of the Estates General (i) 20th June, 1789
(B} Bastille was destroyed on (i) 4th August, 1789

(C) Abolishment of feudal system in France  (iii) - 14th July, 1789

(D) ‘Swore of Tennis Court (ivy 5th May, 1789.
Code :
A B C D
(1) i il iii iv
(2) iv iii ii i
(3) iv i ii. iii
@4 i iv iii i

NTSE(I)/18 - SAT-612-C , - [P.T..



'SAT-3 - N (24)
62. YIRA & 98 (T Sl Sorgrare ant ferm €, §
1) &famon 2) I WY
3) U @) e
The state of India where the Jallianwalla Bagh is situated, is
(1) Haryana | (2)  Uttar Pradesh
(3) Punjab (4)  Rajasthan.
63. 187130 H STHA! 1 WHE &1 |
(1) fafers weom (@) e ge
@) e fofera =g (@) e Tl

The German King in 1871 was

(1) William I . '(2)  Nepoleon III

(3) Frederik William IV (4) Emmanuel II.
64, TS W T T ST R R 2 .

(1) STH % : (2) odo Frhew

@) Yot A . (4) ﬁﬁrmﬂﬁ_l

Who diécovere,d the spinning jénny 2

(1) John Ke {2) 'T.E. Nicholson

(3) Raphael Samuel (4)  James Hargreaves.

65. ST Ty 1 9y
(1) 1903 (2 1905
3) 1907 (4)  1909.

The year of the Partition of Bengal was
(1) 1903 (2) 1905
3) 1907 (4)  1909.
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66. [T=iciiad o § -8 U <91 fi gt of wnfiver &t ar 2

(1) Fwivg (2 Wi

@ (4) ST |

Which one of the following countries was not among the Allied Powers.?
(1} . England (2) France

(3) Russia 4) Germany.

67. S TISTE A Aieh T JFRH e & §AT 7
(1) 1750 | 2) 1780
(3) 1850 E (4) 1880,
When was the publication offBengal Gazette initiated ?
(1) 1750 | | (2) 1780
(3) 1850 (4)  1880.
68. e forgaft W & 3
(A) Wm%ﬁﬁnﬁsawmwaﬁ%mwmwﬁl
(B) 20 3T, 1930 I HETH el 7 3T | e F el |

A e T e & FE I FT TE B
(1) e (A) (2) e (B)
(3) (A) 3R (B) T W @ I

Consider the following points :

(A) Mahatma Gandhi started Salt March with his 78 confidential volunteers.

(B} Mahatma Gandhi violated the Salt law at Dandi on Apri] 20t 1930.
Choose the correct answer from the codes given below :

(1)  only (A) (2)  only (B)

(3) both (A) and (B) (4) none of these

NTSE(l)/18 - SAT-612-C [ P.T.O.
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69. WA H SIS T b 5 % W1Q W gam ?

qHIYE T 5
fiefter o7t AR 9 |

Battle of Panipat

(1) WO g (@)

@) T I @

After which war the British rule was fbunded in India ?
(1) Battle of Sabrao (2)

(3) Battle of Plassey . (4).

Second Anglo Mysore war.

70., I fova gET & HeF i HeTHal i YBed g8

(1)
(3)

‘When was the Great Economic Depression between the two World Wars held ?

(1)

3)

1921 (2)
1935 (4)

1921 2)
1935 (4)

71. 9= US &Y AT e &l 2

(1)
(3)

TS TR 2)

TETeHT Tt (4)

Who composed Ananda Math ?

(1)
(3)

Rabindranath Tagore (2)
Mahatma Gandhi 4)

72. ‘@Y U™l S@Er §

(1)
(3)

I qadT wo H 2)
SW & oo g A

‘Khadar’ is found in

(1)
(2)
(3)

(4)

the northern mountain region
Thar desert
the vast northern plain

the peninsular plateau.

NTSE(I)/ 18 - SAT-612-C

1929
1939.

1929

1939.

el o
Sfen 9% 9gareEy |

Munsi Premchand

Bankim Chandra Chattopadhyay.

4R & Howel |
WEg g SR H |



73.

74.

75.

(27) SAT-3

TR TeR # W w¢t Y 1 I el ¥
(1) e () e
(3)  SIsIRT 4  Pse |

The rising place of the largest river of peninsular plateau is

(1)  Betul (2) Nasik

(3) Jabalpur (4) qudalorc.

et T W fAor-afted TgT @ wre @Rarel ast w T g

(1) 100 ¥ 150 9Ht (2)  150% 200 &

(3) 200¥250@HAT (4) 250 94t ¥ afus |

The quantity of rainfall received on the Western Ghats by south-west monsoon is
(1) 100-150 cm (2) 150 - 200 cm

3) 200 - 250 cm (4)  above 250 cm.

R ¥ R S o e, WA e g o ¥ 7

(1) FOEHEEE QOO s (2)  UEdE oF

(3) o | (4) SO TR asE |

In which Indian forest are silver, fir and pine trees found ?

- (1) Tropical deciduous forest (2) Montane forest

(3) Mangrove forest 4) Tropical evergreen rain forest.

NTSE(])/ 18 - SAT-612-C ~ [P.T.O.
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76. et - 1@l - 11 W A R T W o A

k. TR

(1)
()
(3)
(4)

ot -1
(37) IW BR
(@) sRaolt 3R
(®) gat 3R
(®) qﬁﬂfﬁiﬁt
¥ & ®

iv.

(i)
(i)

- (i)

(i)

ot -
8° 4/ Jo
37°6' 30
68° 7' Qo

97° 25/ o |

Match List - ¥ and List - II and choose the correct code from the following :

List-I
(A) Northern end
(B) Southern end
(C) Eastern end

(D} Western end

Code 2

(1)
(2)
(3)
(4)

T
i il iv
ii i iv
o6 i

 NTSE(])/18 - SAT-612-C

iv.

i

(i)
(1)

(iv)

List - I
8°4'N
37°6'N
68° 7'E

97° 25' E.
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fipr © Q H-T T TE T IR 99§ 2

(1) S WA (2) T

(3) uf¥em s 4) T TR |

Which of the following is the major sugarcane producing state ?
(1) Uttar Pradesh (2) Rajasthan

(3) West Bengal _ 4) Madhya Pradesh.

78, SO ¥ SR § fFw @i & weegt fe T S € 2

79.

) e s (@ wEen

(3) _' GIEL (4) SEEREE |

Irﬁportant deposits of which mineral are found in Koraput in Odisha ?
(I) Iron ore ' 2) Coal

(3) Copper (4) Bauxite.

et W S et o fie fw o o e g 2

(1) 1833 (2) 1854

(3) 1355 (4) 1856.

In which year was the first successful cotton textile mill established in India ?

(1) 1853 2) 1854

(3) 1855 (4)  1856.
wree ) wEE A 2000 F AR WY
1) Frvee R

(2) hfEt & gewr e
3) oy geg W 30 W FH FEA
(4) TR % 3R TG |

"SE(1)/ 18 - SAT-612-C [ P.T.O.
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Indian population policy 2000 not includes
(1) 7 free education
(2) free froxﬁ d';seases
- (3) reducing infant mortality rate below 30
(4) inérease .the employment opportunfties.
g1, TR W Q T ek e e e e §
(1) TETERY — SR — SIS — FAR
@) SO — T — weeaT
(3) iR — o — TrlTl‘rfI?ra'I
(4) AT — SR — HYRT — feeedt |
Gas transportation pipeline ‘which passes through Kota in Rajasthan is
(1) Guwahati — B;u'auni — Allahabad — Kanpur
(2) Barauni — Rajbandh — Haldia
(3) Hazira == Vijaipur — Jagdishpur

(4) Salaya — Viramgam — Mathura — Delhi.

g2, TTer S el T R g T A TR E 2

(1) BHEE @2 T

@ s R R @ IR
In which state of India is red and yellow soil found ?

(1) Chhattisgarh (2) Rajasthan

(3) Jammu and.Kashmir (4)  None of thesv;e.

NTSE()/18 - SAT-612-C
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84.

85.

(31) SAT-3

o fodges a7 O @ 919 @ 95 o veet Uy e T @ 2

(1) =9 940

2) A T

(3) T THT I I5Y AW G4 A F FEl o
(4) HRAE g O |

In which House is the finance bill presented first ?

(1) Rajya Sabha

(2) Lok Sabha

(3) Both Lok Sabha and Rajya Sabha anywhere

(4) Reserve Bank of India.

frafeiad § $ Temiae FrgTEes 1 e gar g 2

(1) foremeier (2) T WA T |rag
(3) T A (4) Yo meiREE |

- Who among the following is a part of the political executive ?

(1) District Collector

(2) Secretary of the Ministry of Home Affairs

(3) Home Minister

(4) Director General of Police.

Frafefen aemfas denst § ¥ SF-9 T80 e9R 39 & AR A 3 G #W
THA E ?

(1) Haed FEey 2 FNEE e

(3)  wuH T (4) EEE |

Which of the following institutions can make changes to an existing law of our
country ?

(1) Supreme Court of India (2) International Court of Justice

(3) Prime Minister - (4)  Parliament.

NTSE(I)/ 18 - SAT-612-C [ P.T.O.
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86.

87

aﬁnmmﬁuﬁﬁw%mﬁwﬁﬁﬁmmaﬁawrﬁ%ﬁ‘wﬁwﬁ
AT ?

(1) M H AYFR

(2) Al Sifaeht @ R

(3)  STUHT HEHIT I T&T T UHR

4) I=a ferer wftq @1 stfusr |

Which one of the following is considered as a fundamental right according to the

Constitution of India ?

(1) Right to work

(2) Right to adequate livelihood
(3) Right to protect one’s culture

(4) Right to get higher education.

wferar fafor whwan & W & gofed i -

(A) Stouo T )  dfee g & aTeme
(B) Wo3IRo F=TH (i) VT I F W
© T S (M) WET HHS & areaey
(D) Elodlo FWMHERI (iv) SIS TAEHR |

(1) (A} -iv, (B) - iii, (C) - i, (D) - ii
(2) (A)-1iv, (B)-ii, (C) - i, (D) - iii
3} (A) -1, (B) -iii, (C) - iv, (D) - ii

(4)  (A)-1ii, (B) - iv, (C) - i, (D) - ii.

NTSE(I)/ 18 - SAT-612-C
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Match the following in reference to constitution making process :

(A) B.N. Rae d) President of the Constituent Assembly
(B} B.R. Ambedkar (i) Member of the Drafting Committee

(C) Rajendra Prasad (iiif Chairman of the Drafting Committee
(D) T.T. Krishnamachari (iv) Legal Advisor.

(1)  (A) - iv, (B) - iii, (C) - i, (D) - ii

(2) (A)-iv, (B) -ii, (C) - i, (D) - iii

(3)  (A)-1i, (B) - i, (C) - iv, (D) - i

(4) (A)-iii, (B) - iv, (C) - i, (D) - ii.

88. 'R Hied' ¥R W W HHAET God A FYA 2

() TR el §RTHM STHeT T o $Es
(B) TAE & THE IHRZARI §RT AN ST FIH o Hre
(C) I T & ferg fee-fder
(D) HARET & oY HagH & SAHaEd |

(1) A,B,C (2) A,B

3) B,C (4) C,D.

Choose the correct statement describing the word 'code of couduct' :
(A) A set of norms and guidelines to be followed by Political Parties
(B) A set of norms and guidelines to be followed by candidates in Election
(C) Guidelines for Election Commission
(D) Compulsory voting for voters.

(1) AB,C (2) A, B

(3) B,C 4) C;D.

89. YRGG WU § FoHH NHUFMER Faed e § sivsmad fha = e

forw < wehet & 2

(1) 29+1 (2) 30+1

(3) 28+1 (4 31+1.

According to the Constitution of India, how many maximum no. of judges can be
appointed in Supreme Court ?

(1) 29+1 (2) 30+1
3) 28+1 (4)  31+1.

NTSE(I)/18 - SAT-612-C [ P.T.O.
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oa. faum ufkeg # AT wewl =t dear @t

91.

92.

(1) (2)

Wl

3) (@)

O\|—
Bl= D=

How many members will be nominated in Legistative Council ?
(1) (2)
(3) (4)
Rar Wi % fRe 3T % SER Ty #t Fgfe @t S e 2

(1) 747 2 757

Q= e
Bl= D=

3 s2d 4) eL1dl |

By which Article of the Constitution of India is the Prime Minister appointed ?
(1) 74th (2) 75th

(3) S52nd (4) 61st.

IR % IRl 1 e fordk gRY o ST &, 9 §

(1) @ a9 & faifea ag&

(2) T 1 & qHt T_1E

(3) o QW1 UE (Y @1 & faited wee

(4) i T, TG W1 T T fau we & el wee |
The Vice-President of India is elected by

(1) elected members of Lok Sabha

(2) all members of Rajya Sabha

(3)  elected members of Lok Sabha & Rajya Sabha

(4) all members of Lok Sabha, Rajya Sabha and all state legislative assemblies.

NTSE(])/ 18 - SAT-612-C
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03, - 19 gt - 11 } A TR €T W T2 T T R

gt -1
(%) @ g

(@) [T G

(W) 9yadt g

(R)  erafm= HAUSHR
FZ

¥ ¥ « 7T
(1) i 11 i iv
2) i i v i
3) i iv i iii
4) v iii ii i

gt -1

() P WA
(i) FER
T
iv) o |

Match List — I and List ~ I and choose the correct code from the given codes :

List-1
(A} Union list
(B) State list
(C} Concurrent list
(D) Residuary powers

Code :

(1) i i i iv
2 i i v i
@) i v i i
@ ivo i i i

NTSE(l)/ 18 - SAT-612-C

List-II
(i) Computer Software
(i) Communications
(iii) Poiice

(iv) Forests.
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94, St oI ISV &
(1. = (2)
(3) v )
The example of capital is
(1) Water @)
(3) Climate (4)
95. TSI I I §
() &R (2)
(3) AT 4)
The rabi crop is
(1)  Jowar (2)
(3) Maize (4)
96. WRA H I A AR B ¥
(1) wRe e S 2)
(@) e )
In India the currency note is issued by
(1) Reserve Bank of India 2)
'(3) NABARD (4)
97. N WG T A &
(1) WRHEX 2
(3) o (4)
The source of institutional credit is
(1)  Money lender @)
(3) Bank (4)

NTSE(I)/ 18 - SAT-612-C

(36)

o

e |

Forest

Machine.

EIGE

T |

Bajra (Millet)

Wheat.
S 3w e |

State Bank of India

Bank of India.

il
g |

Landlord

Relatives.



(37)
o8. e § qellaeh & I IO ¢
(1) PN (2) HoE e
(3) T @ G A (4) % ¥a |
The example of tertiary sector is
(1)  Agriculture
(2)  Fisheries
(3) making sugar from sugarcane

(4) Banking services.

90, WRT THR FRI “ET 1 ek aifufram ey o

(1) 3T, 2005 (2) TR, 2006
3) =R, 2007 @) S, 2008.
The Government of India enacted the léw of "Right to Information” Act in
(1)  October, 2005 (2) November, 2006
(3) December, 2007 (4) January-, 2008.
100. MRA &I G FH &
(1) IwiEE (2 uRmEE deE
(3) 2T T (4 THI A

The Multinational Company.of India is
(1) Infosys (2) Asian Paints

(3) Tata Motors (4) All of these.



(3) MAT-1
sifg® argar aaar
MENTAL ABILITY TEST

T WA-UA § FeA 50 W & | U WA TH 3k BT ¢
THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W (1-4)/ Questions (1-4)

fridw : W 1 @ 4 7% T d U R-gu & T R, e e i) @ ¢ Mo gue
fg (7)) @ woifar e &1 9 w% 3w Aot & A el e el F @ 0 31w ferpew
Y | | ‘

Direction : In each of the questions 1 to 4 a letter series is given with one term
missing shown by question mark ( ? ). This term is one of four alternatives given under
it. Find the right alternative.

1. G K 0.8, ?.

(1) @y W 3) V @) X.
2. DX, HT, KQ, OM, ?

(1) sJ (2) RK 3) QJ 4) RJ.
3. H,D,AY,X °?

() X 2) W B3) T @) V.
4. KLE,IND, GPC, ? , CTA.

(1) DRB (2) BSE (3) ERB (4) ECR.

WS (5-8)/ Questions (5 - 8)

fiw : W 5 ¥ 8 7% AT A UH FEm-Aoh & ¥, e ow @ o & o gee
fag (7) | <o T ¥ 9 9% 39 Svit % AR KE T 9R fawedt § @ wE §) W fawed W
It |

Direction : In each of the questions 5 to 8 a number series is given with one term
missing shown by question mark ( ? ). This term is one of the four alternatives given
under it. Find the right alternative.

5. 4,9,25, ? ,121, 169.

(1) 36 (2) 49 (3) 64 (4) 81
6. 1,3,7 13,21, ?, 43,57 ‘

(1) 31 2) 29 (3) 30 (4) 32
7. 5,3,10,8,17,15 ?, 24. ",

(1) 25 (2) 23 (31 26 ) 4) 27.
8 97 77,59, ?, 29,17.

(1) 34 (2) 39 (3) 37 (4) 43.

NTSE(I)/ 18 - MAT-610-A ' [P.T.O.
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9. N ¥ W W H &t HYT 3R F 3 frwe 1w 1 ¥ A R e B et v
A ?, Aot & o wewd awl § o e e €1 |l frehst # emgds v ge w
A B S P R T e w1 ae W ORT R SRR w b, R
T T qeA @ e et
wUA: () W A, gfeEE E

@ : P Ao, fofe €
frend O : uh ol wfeend, gieem §
Iy : 9 gisEE, g €
(1) ool fepe 1 ©
(2) oo =R 11 9 §
(3) cHIfT=Re ] R 1w E
(4) A =R 1 @R T & e 1 T

In the given question there are two statements and they have two conclusions
I and II. You have to take the given statements to be true even if they seem to
vary to commonly known facts. Read the conclusions and decide which of the
given conclusions logically follows from the two given statements even
disregarding commonly known facts.

Statements: (i) : All women are intelligent.
(i) Some women are educated.
Conclusions : (I) All educated women are intelligent.
(Im - All intelligent are women.

* (¥} Only conclusion I is true
(2) © Only conclusion Il is true
(3) Both conclusions I and II are true
(4) Neither conclusion I nor conclusion II is true.

10. @ 72 w9 & U FO F I T 1 Wllﬁﬁﬂ&%lmmm%%mﬁﬁ?m
T ‘UEe e wER g |
®UA : TG Ud SAE Heioh WU Y e W) W eR] AT =iy |
ad: () &, 98 e & gaor e ¥ geEe g
| (1) &, o7 ereAmgeRl W 3y WR S|
(1) %k [ o I 3 ueet & (2) @ 1 I IF HER &
(3) T 1 VS € F T I FAR 8 (4) T | HESIRK & & T 11 99 T

NTSE(I)/18 - MAT-610-A
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In the given question, a statement is followed by two arguments I and II. You
have to decide which of the following arguments is 'strong’ or ‘weak’.

Statement: Continuous and comprehensive evaluation system should be
implemented at school level. '

Arguments: () Yes, it helps in all-round development of the child.
(II) No, it puts more burden on teachers.

(1) Arguments I and II both are strong

(2) Arguments I and II both are weak

(3) Argument I is strong and II is weak

(4) Argument I is weak and II is strong.

11, & ™y § oF w99 9 I9H @ R0 KA @ §| e o w@ foehew w1 g
it |
waw e T ot AR e
FROT  :  AHET AR S A @rE 7 ST AR €
(1) &% 3R SR A TA & (2) U T ¥ ARG RO I ¢

(3) U ITEA ¥ AfHA FRUT T & (4) YT AT HROT AT A €1

In the que's'tion given below, a statement is followed by a reason. Choose correct
option for them. -

Statement : Narmada river flows to west.

Reason Narmada river falls in the Bay of Bengal.

(1} Statement and reason both are true

(2) ~Statement is true but reason is false

(3) Statement is false but reason is true

(4) Statement and reason both are false.

12. B d ® F9-91 37 INE 99, FR F a6 H G T F AT Fr g ?

Which of the following Venn diagrams correctly represents Bus. Car and

Vehicle ?
1) @ @ O
3) | @)

NTSE(l)/ 18 - MAT-610-A | _ o [ P.T.O.
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13, 7§ ¥ FR-E1 O I W T, FUS F WFE T F A €9 H WG FAE 2

Which of the following Venn dlagrams correctly rcpresents white colour, clothes
and natural flowers ?

(1) - @

@) | @ OO0
W (14 -15) / Questions ( 14-15)

& T a9 @ ° 500 I A F Hifaw fawe, W%ﬁmaﬂtnﬁmﬁwaﬁﬁﬁww
W TS R TS U £ 1 3 ST % YR W WY 14 3R 15 HT I I

Out of 500 students, the following Venn diagram represents the number of students
who got Distinction in Physics, Chemistry and Maths subjects. Answer Q. 14 and
Q. 15 based on Venn diagram.

Chemistry ' EE Physics
vt
Maths

14, g faem 3k T <A fawat o faei dvaar wa oEt ® we e g, S IEd
T o fore o vty dvaar e ot wftafad 7@ e s 2

How many students got Distinction in both Physics and Maths subjects, when
the students who got Distinction in Chemistry subject is not included ?
(1) 26 (3 15 (3) 28 (4) 24.

15. dr fomat # favtw g s st @)yt s g 2

What is the percentage of students who got Distinction in all the three subjects ?
(1) 28% (2) 35% (3) 38% 4 40%.

WS (16 - 17 ) / Questions ( 16 - 17)
fdwr - mmauﬁ#ﬁﬁﬁm%ﬁqﬁzﬁm%mwﬁmmm%lw
faesheq g7 FX WEl I et |

Direction : In questions 16 and 17 three alternatives are alike in a certain way but
the rest one is different. Find out the odd one and write correct answer.

16. (1) M / Afghanistan (2) Eel / Kabul
{3) ¥ / Spain (4) T / Iraq.

NTSE(I)/ 18 - MAT-610-A



17.

18.

19.

20.

21.

22.

(7) MAT-1

(1) 1 (@) 729

(3) 144 (4) 64

‘A+BF IT A, BRI &I ‘A B’W@R&A Baﬁv%r%laapua oa?r'amani
B 2

‘A + B’ means A is the son of B. ‘A — B’ means A is the wife of B. Then what does
P+ R- Qmean ?

{1 o pwifre / Qs the father of P
@) Q PRI TAE / Qis the son of P
(3) R QW fuar & / Pis the father of Q

- (4) R.Q“‘P'%/Risthesonof@.

T et B % AR #R P, Q, R, SR T & &% &I 3k 4 0 93 §1 R P& 3%
TR AR, 3R S F qEr AR W T WH W R TPaséaahﬁaﬁ%lR%aﬁaﬂw
TR GARWHAE ?

P, Q, R, S and T are sitting around a circular table facing centre to thc table. R is
just the right to P and is second to the left of S. TIS not between P and S. Who is
second to the left of R ?

1y Q ' 2) s

3 T @4 P

oo T o U, s W o v, o W oad w0 AR § W e w @,

27 >81$ 9 < 6 H T FT E 2

If ‘<’ means ~’, >’ means ‘+’, =" means ‘x’ and ‘¢’ means +’, then what will be the
value of 27 >81 $9<6? PR
(1) 6 (2) 36 3) 30 (4) 54.

IR Y IR FAAT-Fen Rafaat A= < @ €1 6 F faudid wore W wH-wH g € 2

The four different positions of the dice are given below Which number is on the
face opposite to 6 ?

RcIcicl:l

(1) (2) (3) (4)
(y 1 (2) 2 (3) 3 @ 4
wsﬁﬁwwﬁmmﬁmﬂmvﬁq%laﬁzﬁﬁgmmﬁwwﬁﬁwﬁﬁ
ferar <rem 21 3 @ TR o O € et 9t weE T & 2

All faces of a solid cube of edge 8 cm are coloured. It is divided equally in the
cubes of edge 2 cm. How many cubes will have all faces coloured ?
(1 1 (2} 0 "3 8 @ 4

NTSE(I)/ 18 - MAT-610-A [ P.T.O.
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23.

24,

25.

26.

27.

28.

af el g2 Wi # ‘SOLID’ # ‘HLORW' fovar st &, & 3%t g s 3 Gas
forar smam ' |

In a coded language the word ‘SOLID’ is written as ‘HLORW’, then in the same
code language ‘GAS’ will be written as

(1) THZ , 2 TYI (3) TZH (4) ZHT
fs fordit e w1 | 1= 9 UF GIRL = 46 &, df BOY = ?

If inacel"tajn codel=9and GIRL = 46, then BOY =?

(1) 37 2) 39 - (3) 24 @) 42
o 4T, S O ) wd , A Go  we @ e § 2

If Ranjana is the sister of the.son of Sohan's son, how is Ranjana related to
Schan ?

(1) T/Daughter | (2) W@/ Sister
(3) WH/Granddaughter (4) =mET/Uncle.

o S e @ @ e R R @ oRed we o, o Swg R 9w e
SRR 2

If North direction is called East and South direction is called West, then what will

be called North-East direction ? |

(1) IW-Yd/North-East | 2) gé—zfém/East-Sou&
(3) uf¥am-3RUT/West-South (4) w—qﬁﬂn/Nonh-West.
A el T s & ST S 3 Reed g O) @, R s 2 @ 2

How many pairs of successive numbers have a difference of 2 in the following
sequence ?

6,4,1,2,2,8,7,4,2,7,5,3,8,6,2,1,7,0, 4, 1,3,2,8,6

(n 4 2 S (3) © @ 7

Frefiam ) ket s s e

‘A— @ B_ PRA®EI C— fafke® D— §@R E— WA oW

Arrange the following in a meanihgful sequence :

A — Medicine B — Diagnosis C — Doctor =~ D— Fever E— Recovery |

(1 DCABE 2) DECAB (3) DCBAE 4) CDBAE.

NTSE(])/ 18 - MAT-610-A



29.

30.

(9) MAT-1

feft T foredt A @ o WE@W (7 ) B WA HAG, Falk AN spiad d wHA e
AT T B

Find the missing number ( ? ) from the given alternatives, when same rule is
applied in all three situations.

5 21 | s1

16 |109]| 2 225319 17| »? | 48

6 15 13
iy 7 2) 25 @) 49 (4) 129.

5 e T @S IEE O | wefke ¥, 39 R w ww f § | e @ gdia
g ?

‘As ‘part’ is related to ‘whole’, in the same way an ‘Arc’ is related to which of the

following ?
(1) 34/ Rectangle (2) d9x/Circle
(3) ﬁ‘ﬂ?l/’[‘riangle 4) ?;Tﬁ/ Square.

WS (31 - 34 ) / Questions ( 31 - 34

frder : WY 31 @ 34 @ § fasi & o 9 &, B v we =) wnen-far @ gt ®t st
Fed ¥ gn-faa wh #9 4 OF % 9% UF W g §) ! S-f A 4w o fa
< &, o we-fet 7 R s s o1 w1 W gw-fa g

Direction : In questions 31 to 34 there are two sets of figures. One set contains
problem-figures while the other has answer-figures. There is a sequence according to

which the problem-ﬁgures are arranged. You have to select an answer-figure which
can be added in sequence with the problem-figures. Choose the correct figure.

31.

32.

33.

que-fax / Problém—ﬁgures IW-TaF / Answer-figures
Oolola| LA
(a) (B) (C) (D) (1 (2) (31 4@
uwEr-faa / Problem-figures W-FEH / Answer-figures
(A) (B) (C) (D) (1) 2) (31 (4)
m-fiﬂ / Problem-figures I-T9T / Answer-figures
(A) (B) (C) (D) (1) (2) (31 (4l

NTSE(l)/ 18 - MAT-610-A [ P.T.O.



MAT-1 (10)

34, FFTRTT%H’ / Problem-figures IA-TeF / Answer-figures
‘ a [a] o A .
A -a I_ A _
n N ; lao ola_o| Ao
(A) (B) (c) (D) 7 Mm@ @ ey

WS (35-38 )/ Questions ( 35 - 38 )

Ry s mm iR Am A R E TR I o R mﬁa‘rﬁﬁﬁqﬁm%l
waﬁﬁﬁaﬁgﬁ'&l

Direction : In questions 35 to 38 there are four figures given in each. One of these
does nof correlate with the rest of the figures. Select that odd figure.

ss. |C|J|S |U

(1) 2) (3) (4

[

1 2 @ @

I NZ= NS
ity 2) 3 @

NN A%
38 PN | [dN| AN dN)

(1) 2) 3 (4
e (39 40) / Questions (39-40) |
frdwr - msgammﬁa”rﬂ%m?%waﬁﬁwuﬁﬁwmﬁﬁq waﬁwﬁﬂé%ﬁ%
T 3R &

Direction : In questions 39 and 40, find the correct mirror image of the given figure,
when mirror is placed on right side of the figure.

39. STOP .
(1) eTod (20 90T2 (3) 9TOR® (4 POTS
40. W—Hl?ﬁ-r / Question-image | Tﬁ?-ﬂ@fﬁ / Answer-image
olt] \ tialiviolidloflt]o
ala ' olol|¢|0O]|V]|O]|A|O

@ @B 4

NTSE(I)/ 18 - MAT-610-A



| (11) MAT-1
o ( 41 - 42 ) / Questions (41 - 42)
frlwr : T 41 3 421 & 7 Ry @ W o st T Fif
Direction : In questiéns 41 and 42 select the correct water image of the given figure.
41. WEA-3MH / Question-figure
(oo
IW-AFFTEr / Answer-figures

<—®O @ <—®O (3)_@—» @

42, M-BT@R"[ / Question-figure

X7TW4
ITR-SHAT / Answer-figures
(1) Ximt (2) X7TM4 (3) Xiwt 4 XiM¥

WY (43 -44) / Questions ( 43 - 44)
Pk + e et e g e e &, o feg e & o gt o, o v
W €19 aTell il STL-3THia § | FA-8 @it 2

Direction : A square transparent sheet with a pattern is folded along the dotted line.
Which of the following answer figures is formed after folding the transparent sheet ?

43. gREE U / Transparent sheet 3?1'(-&!‘:"/ Answer-figures
*°e . < : e o :’
(1) @ 6@
44, qRESH 99 / Transparent sheet W—ﬁi /| Answer-figures

(1) (2) (3) 4

NTSE(l)/ 18 - MAT-610-A [P.T.O.



MAT-1 | (12)
W (45 - 46 ) / Questions ( 45 - 46 )

Py + it fog o For e S SR @ E B e e (Wi &) v IR sy o
¥ 3 39 WE IF B W |

Direction : In the following figures there is a question figure, which is embedded in
one of the answer-figures. Trace out the cdrrect figure.

45. W-N@Tﬁf / Question-figure A 3?!?31135%’&? / Answer-figures
) (2) (3) (4)

46. W-?ﬂé‘?ﬁf / Question-figure . W—H@ﬁﬂﬁ / Answer-figures
(1) (2) (3) - {4)

47. wA-u1 I-Foa 5@ T Afgam-fom wt i wom 2

Which of the answer-figures completes the given matrix figure ?

RIAEIRYE
RN
L
® zﬁzo*i180&“4*5=1;§)ﬁ,a}7*7wn:;rm-? i

If20 * 3 = 180 and 4 * 5 = 100, then what is the value of 7 * 7 ?

(1) 21 ‘ 2) 49 (3) 343 @) 7.

NTSE(I)/ 18 - MAT-610-A



(13) MAT-1
49, A & i arghy § At Y WA wAwy

Determine the number of squares in the following figure :

() 14 2 9 3 10 4) 16..
50. R T T o wHae W @ T e S

How many cubes are laid on é plane as shown in the following figure ?

(1 14 2 12 3) 10 4) 8.

NTSE(I)/ 18 - MAT-610-A [P.T.O.



NTSE-2017-18 (Stage-l)
ANSWER KEYS

SAT
1. 4 (2203 |3 @ |4 @ |5 @ |6 (1) |7.0@ |8 @ |9 (1) |[10.2
1.(1) |12.(4 |13.(4) |14.3) |15.3) |16.(2 |17.4) |18.2) [19.4) |20.¢2)
21.(2) |22.(1) |23.(8) |24.(1) |25(1) |26.(1) |27.3) |28.(3) [29.(3 |30.(2
31.(3) |32.(1) |33.(3) |34.3) |35(2 |36.(4) |37.(1) |38.(4) [39.(1) |40.(3)
41.(3) |42.(2) |43.(4) |44.(3) |45.(3) |46.(3) |47.(2) |48.(2) |49.(4) |50.(3)
51.(2) |52.(2) |53.(1) |54.8) |55.(2 |56.(2) |57.(1) |58.2) [59.3 |60.(2
61.(2) |62.(3) |63.(1) |64.(4) |65(2 |66.(4) |67.2) |68.(1) |[69.3) |70.(2)
71.(4) [72.(3) |73.2 |74.(4) |75.(2 |76.(3 |77.(1) |78.4) |79.(2 |80.@)
81.(3) |[82(1) |83.(2) |84.(3 |85.(4 |86.(3 |87.(1) |88.(2) |89.(2 |90.3)
91.(2) |92.(3) |93.(2) |94.(4) |95.(4) |96.(1) |97.3) |98.(4) |99.(1) | 100.(4
MAT
1.2 |22@ |3 (1) |4 @ |5 @ |6 (1) |7.@Q@ |8 @ |9 (1) |10.3)
1.2 |12.3) [13.(1) |14 |15.4) |16.@2) |17.(3) |18.(1) |19.(1) | 20.(3)
21.(1) |22.(2) |23.(3) |24.4) |25.3) |26.2 |27.(4) |28.(3) |29.(2) |30.(2)
31.(4) |32.(3) [33.(1) |34.4) |35.(4) |36.3) |37.(1) |38.(4) |39.(2) |40.(4)
41.(2) |42.(1) |43.(3) |44.(2) |45.(3) |46.(4) |47.(1) |48.3) |49.(1) |50.(3)
ENGLISH
1. 3 |22 @ |3 @ |41 |5@® |6@® |7@ |8 (1) |9 @ [10.@4
11.(3)  |12.(1) |13.8) |14.8) |15.(2 |16.(1) |17.@4) [18.2) [19.(3 [20.(3)
21.(1) |22.(2) |23.(1) |24.2) |25.(3) |26.(4) |27.2) |28.3) [29.(3 |[30.(2
31.(3) |32.(1) [33.(4) |[34.3) |35(3) [36.(4 |37.2 [38.(3) [39.(2 |[40.(4
41.(2) |42.(1) |43.3) |44.(4) |45.(1) |46.(3 |47.(1) |48.3) |49.(2) |50.(4)




SAT Solutions

(A) Slope of distance time graph is constant for uniform speed
(D) Slope of velocity time graph is zero for uniform speed

mp = 50 gm
vy = 100 m/s
my = 10 kg
Vg = ?
Vo= v, = MV _ — %000 x 100
m, 10
1
Vg — EI’T‘IJ’S
x =v=0
100m
3 6 N
v —u® = 2g (100)
0 —u®=-2g (100)
u® = 2g (100) ... (i)
and when initial velocity is doubled
(2u)® = 2gH ... (ii)
(i 2gH _ ¢
0 2g(100)  u?
]H :400m|
GM
9= ge
g_M
G R
fo 1
T
so, unit of frequency is (second) .
v=Af
v=10x 1000 x 3 x 107°
]v:BOmfsl
P distance _ 3
speed 30
1
——=0.1sec.
1 10 0.1sec




10.

11.

13.

14.

15.

16.

17.

18.

19.

f=+30 cm
u=-15cm
1.1 1
f v u
L B
v 30 15
V =-30cm
moY_=80_
u -5
m=2

1Q 20

10 30 2

19 20

1/30 30 2302

LY S T T Y R T T Y Y T ) a
R, =4Q
A B 1 el
2

Total power = 4 x 100 = 400 w

Total energy = 400 x 6 x 30 = 72000 w - h
= 72 kwh

Total cost = 72 x 5 = 360 Rs.

When light travels from rarer to denser medium then light bends towards normal.

HCI —* > CP
acid Conjugate base

CaS0,.2H,0—2% 5CaS0,.14H,0

100°C

CaS0;. ¥2H,0 formula of plaster of paris
C2HsOH slow down the process of reaction

Non metal = Si have both property of metal and non metal
3 2 1
H,C— C =CH,
o,

2-methylprop-1-ene

TG~ CHs CH— CH- CH- C— NH- CH.- CH CH: CH~ CH.- CH- NH 3

o} adipic acid ) hexamethylene diamine



20.

21.

22,

23.

24,

25.

26.

271.

28.

29.

30.

3.

32.

33.

35.

NH4 Cl + NaCl
sublime not sublime

mole:x Molecular weight of N2 = 2 x 14 = 28
" 28
N
mole = —
=15 NA
—xN, =N

N =3.011 x 10%

S—- K L M
16 2 &8 6

Fe —» Fe™, Fe™
Al (CO3)s [ Al =< GO;1 ]

Freon —112is C,F5Cl,

Mg + Cla = MgClz (high MP/BP)
MgCls is ionic compound

ionic compound have high Mg (OH),

melting and boiling point water soluble

Sclerenchyma is simple permanent tissue in which lignin is present which makes it dead & it provides
mechanical strength as in the fibrous covering of coconut.

Nucleus is the headquarter of the cell which control activities of cell and discovered by Robert Brown.
Cytokinin is a plant hormone which mainly control cell division & promote growth in plants.

As Lichens are SO, sensititive and can'’t grow in the area where sulphur dioxide pollution is present.
Cycas & Pinus are gymnosperms which are perennial, evergreen & woody.

Vacuole maintains the osmotic pressure in plants & maintain turgidity.

As sunlight, chlorophyll, CO- are the main elements essential for photosynthesis.

The nature of nerve impulse is both electrical & chemical, so electrochemical.

As uric acid is the main component of their excretory waste. So uricotelic.



36.

37.

38.

39.

40.

41.

Monohybrid Cross

Parents - Tall x dwarf
TT x tt

A4"
Gametes - @ @ @ @

|

N TIT
t|TE] Tt
t|TE] Tt

F, generation - Tt (tall)

lselfing

Tt x Tt

Gametes - @ @ @ @

|

T|TT| Tt
Tt tt

tall : dwarf

Genotypicratio-1 : 2:1
TT:Tt:tt

Cartilage is skeletal connective tissue which forms endoskeleton of human body.
Echidna is a mammal & lay eggs & act as a connecting link between reptiles & mammals.
As it does not pass from one person to other, so non-communicable.

They have a pseudocoelom as the coelom is partially lined by the tissue derived from mesoderm.

4 J__3+2J§X(3+J§)

3-v3  3-43 (3+43)
_9+343+6V3+6 15+ 943

) 9-3 6

15 9

5tV

a+J?_>b

a=15 b:9
6 6

Ja+b =2




42. 2x2

+px+8=0
D=0 pOC+x)+k =0
p°—4(2)(8)=0 px’+px+k=0
p§=4><2><8 ) D=0
p° =64 p™—4(p)(k) =0,
p=28 4pk =p
4 =p
4k = 8
k=2,p=8 k=2
43. xz—p(x+1)—k =x2—px—p—k
a, p are roots
atp =p
af ==(p+k)

(a+t1)(p+1) =6
afp+a+p+1 =6

-(p+k)+p =5
-p—-k+p =5
K=-5

44 618 _510
unit digit of 6 = 6
unit digit of 5° = 5
unit digit =6 -5=1.

45.

PS =QS

ZQPS =40 +x
ZP+ -Q+ 2R =180
40+x+20+40+x+50 =180
2x =30
X =15

46. 20, 191, 181, .........
4 2

a=20 d= a,=0
4

a,=a+(n-1)d
20+(n—1)[_3\

4 )

0

3
—(n—=1) =20
4( )

3n—-3 =80
3n =83

o S0 27.66
3

n

.. first negative term will be 28™



47.

48.

49,

50.

51.

f

12

900 i g

— x — —— 15—

tane = tan(90—8):12
16 X
cot @ =
X
16 12
X =
16
Xx=9
cosA
m = = .
cosB sinB
2 2
(m2+ nz)coszb= 5 + 5 cos’ B
cos“B sin“B
.2 2
_|sin 2BJrcoi B cos2 Acos2B
sin“Bcos“B
= ﬁx cos?Acos’B
sin“Bcos“B
2
_ 0032 A _ 2
sin“B

(Ratio of area); h_ﬂz
(Ratio of area), | h, )

9 81
x°+y> =100
X%+ 9y? = 144

8y’ = 44
x*=100 —y° y =

2
Xx=972
x ~19.2
b ) G L B Xx+18
10x + 90 =1200
x =11
111+113+115+117+119
Mean =

5
=115



52.

10
10
11(100)_1X100
4 2
n 1
x=100[—— ]
4 2
o = 200 =2
4
=5o[2—2]
7
=50[8'
7)
"7
53. \Y =%’n(r12+r22+r1r2)h
= 1% %2 (4114214 =308
3 7 3
54' & 2 5 3 il
A P B
(3,5) (g g) xy)
\5:5/
— + ir
5 5 5 5

55. Leap year
2 odd days

Probability =
-
56. 2ar =60+ 2r
2r(x—1) =60

15, .
2r 60 Circumference = 2mr

7)°

= 28x
2r=28



57.

58.

59.

60.

Area of ADCEG =2 c¢m?

60° 30
30 =30 _ :>601 :121
60 2 2 2
12 .3 121 e
2 180 360
Let diameter= 2 diameter = 5
radius = 1 radius’ =
4
9

% = —16 100 = 190 _ 43 75%
1 16

x=y)’+(y-2°+@-x°
a +b’+c?=3abc ifa+b+c=0
=3x=-y)(y—-2)(z2-x)

* k k k%



10.

1.

12

13

MAT Solutions
G K 0, s W

DX, HT, KQ, oM, R) = options
e only this is possible
asR(I+1)=RJ

Reverse +1

H D A Y X &
L [ | Il IL B ]
-4 =3 =2 -1 0

NVV\
KLE, IND, GPC, ERB, CTA

4,9, 25, 49, 121, 169
square of prime number

1, 3, 7, 13, 21, 43, 57
I it Il I

I TR
+2 + 48 +8 +10 +12 +14

+5 +7 +9

/‘_‘\/_\
5 3,10, 8, 17, 15 24

L N

+5 +7 +9

97, 77, 59, 29, 17

Argument (1) is strong and (2) is weak.

Statement is true and reason is false.

0

©6



15.

16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

26.

27.

28.

only Maths and physics

Error in question. question should be: What is the percentage of students who got distinction in at least

one subject?

Rest are countries but Kabul is a city.
Rest are cubes

P

P Qs father of P.

R

o

T
s Q

27+81/9-6=30

3,2, 4, 5all are adjacent to 6 in figure (1), (2) and (3)

No such small cube exists.

G A S
T Z H(reverse order)

B O Y
2 +15+25=42

Son1+

Son+ — Ranjana—

N South
E east
W > |E
W
S

6,4,1228,7,4,2,7,53,86,2,1,7,0,4,1,3,2,
[ L L L

S |

Fever — Doctor — Diagnosis — Medicine — Recovery



29.

30.

31-34.

35.

36-47

48.

49,

50.

5 21
16 |109] 2 221563119
6 15

(16 -6y +(5—-2=109  (22-15)+ (21 -19)°=53

51

17@43

13

(17 = 13)* + (51 — 48)* = 25

The complete form of part is whole, so the complete form of arc is circle.

By observation
U only vowel.
By observation

20 % 32=180, 4 x 5° =100
S07 x 72=343

9 squares of 1 x 1 size
4 squares of 2 x 2 size
1 squares of 3 x 3 size
so answer is 14

Top layer=1, middle layer = 3 and bottom layer = 6
Total = 10

* %k k%



